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JEEVANDEEP SHATKSHANIK SANSTHA POI'S

ARTS COMMERCE AND SCIENCE COLLEGE, GOVELI

1.1.2 The institution adheres to the academic calendar including for the ]
conduct of CIE
Sr No Activity details as per Calender Planned Month | Actual Month
| |Departmental staff meeting June 2020 July 2020
2 |Reframing of college committees June 2020 July 2020
3 |Appointment of mentor’s for each class June 2020 July 2020
4 |NSS Enroliment June 2020 August 2020
5 |Selection of Slow Learners & Advanced Learners August 2020 | September 2020
6 |Inauguration of Literary associations August 2020 | September 2020
7 __|Commencement of skill-based Add On course August 2020 -
8 |Social extension activity through NSS August 2020 =
9 |Women Development Cell Meet September 2020 -
10 |field Projects for DLLE September 2020 =
I1_| Sport Committee Meeting and review of Sports Week | December 2020 -
12 | Collection of feedback from students after Semester [ | December 2020
13 Organization ofconferences/seminars/workshops. December 2020 | Webinars 2020
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JSSP/ACSG/COM-I BUSINESS ENVIRONMENT/ @
_F.Y.BAF.SEM- I/INTERNAL TEST AUGUST, 2019

Time:45 min.
20 MARKS

Q.1) Fill in the blank. 05

1) Business Objectives can be classified into ___major Categories.

a) Four b) Five c) Six
2) Study of Human Poulation is called as Environment.

a) Political b) Demographic ) Social

3) Internal Environment is

a) Controllable b) Uncontrollable c) Measurable
4) External Environment is

a) Measurable b) Uncontrollable c) Controllable

5) is a statement which derives the role of that an organization

plays in a society.

a) Goals  b) Mission c) Objective

Q.2) Answer in ONE or TWO Lines. 05
1) What is Business ?

2) What is Environmental Scanning Process?

3) What is SWOT Analysis?

4) Write any Two Factors of Internal Environment.

5) What is full form of PESTEL Analysis?




ACSGC/FYBMS/SEM-I/INTERNAL TEST/2019-20
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Zooliegs A% Marks:-20
¥ :"

Time:- 45 min

Subject:-Business Communication I

Q.1) Fill in the blanks: 5 marks

a) Decoding is of message. ‘
(interpreting/ sending/ changing/ coding) X SST

b) Communication is g

(only thinking/ only sending messages/ exchange of ideas/ feedback)
¢) Communis means A
(a communist/ to make common/ miscommunication/ to keep discrete)
d) Good communication implies :

(agreement/ understanding/ friendliness/ telepathy)

e) is not a type of formal communication.

( vertical/ horizontal/ grapevine/ diagonal)

f) Feedback is
(response/ respect/ interpreting/ receiving)

2) communication can be used to give instructions and directives about the job.
(vertical/ horizontal/ grapevine/ diagonal)

h) Horizontal communication use to communicate at. |

( different level/ cross level/ lower level/ same level)

1) communication is not a type of informal communication.

(single strand/ gossip/ cluster/ double strand)

j) Business communication do not helps to :

(prepare plans/ exchange information/ solving problems/ none of this)

Q.2) Answer in one or two lines: 5 marks
a) Define the term communication.

b) Explain encoding?

¢) What you mean by feedback?

d) Explain the term horizontal communication.

e) Define grapevine communication.

Q.3) Write a short note on any two of the following: 5%2=10 marks
a) 7Cs of communication.

b) Elements of communication.

¢) Vertical communication.

ALL THE BEST!




Jeevandeep Shaikshanik Sanstha Poj’s

College of Arts ,Comm & Scij

Unit Test : FviT(sEm 1)

Sub : Discrete Maths

Time : 45min (attempt any 4) " Marks : 20

Q1) Explain SET ,SUBSET,uNION of SET ,INTERSETION of SET,
Q2) Let U ={1,2,3,..... 10} X={1,2,34,5 }
Y={y=2x,x € X }
Z={z/27*. 92+14=0}
Find : 1)xny 2)Yuz 3) Y°
Q3)in a school,100 students have access to three software Packages A,B,C.
28 did not use any software
8 used only packages A
26 used only packages B
7 used only packages C
10 used all three packages
~ 13 used both A and B
Draw a Venn Diagram with all the sets?
Q4) let P=“ijtjs hot “ q =“itis sunny “
Write the symbolic forms for each of following sentence ?

1) Itis not hot

2) Itis hot or sunny

3) Itis not hot but sunny

4) Itis neither hot nor sunny
5) Itis hotandit s sunny

Q5) verify with the help of truth table ~ (PVvQ)= ~pn ~Q ?

Q6 ) Draw Logical circuit diagram using gates for equation Y= A.B.C + AB + B.(A+C)
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ACSCG/TYBAF/SEM V/ FINANCIAL ACCOUNTING VI/
2019-20 |

TIME - 45 MINI INTERNAL TEST MARKS - 20

Q.1. Afill in the blank

1) fixed asset show in
a) schedule 11 b) schedule 8 c) schedule 10

2) primary function of bank

a) clearing of cheque b) accepting of deposits and advancing of loan c) preparing
demand draft

3) capital reserve show in

a) schedule 3 b) schedule 5 c) schedule 2

4) acceptance and endorsement show in

a) schedule 10 b) schedule 11 c) schedule 12

5) recurring deposits show in

a) schedule 1 b) schedule 8 c) schedule 3

Q.1.B match the following (5
1. Premium earned a) schedule3

2. Interest expanded b) schedule 2

3. Interest earned c) schedule 13

4. Claim paid d) schedule 15

5. Commission paid e)  schedule’l

(51




3. Direct Marketing
4. C2CE - commerce
5. Brand image

Q.3 Answer in any two.

Explain in detail any 3 Categories of E - commerce
Explain advantages of E - commerce

Explain the issues in implementing E - commerce
Explain the factors responsible for E - commerce.

RIS

(10 Marks)
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Q.1. (A) Fill in the blanks. (% marks each) 5M
(1)  Strategy related to social 'responsibﬂitie's of business is, famﬁl
level of the business firm. ' -
(@ Corporate (b) SBU (¢) Functional) i
(2) Strategf«' rellated to gaining competitive position in the market is forniﬁ%te__ at
evel: o
(@ Corporate (b) SBU () Functional
(3) Strategic management requires approach. v
; (a) isolated (b) integrated (c) comprehensive (d) separate
(4) Strategic management is based on analysis. : '
(a) SWOT (b) financial {(c) market (d) technical |
(5) The states what an organization wants to achieve in the long term.
(a) wvision (b) mission (©) plan  (d) goal
(6) The gives an idea about the business of an organization.
(a) mission (b) vision (¢) plan  (d) goal
) serve as standards for measuring organizational performance.
(a) Objectives (b) Goals (c) Plans (d) Strategies
(8) Marketing strategy is formulated at level of the business firm.
(a) Project (b) Procedural (c) Behavioural (d) Functional
9) gives the future outlook of the firm.
(a) Vision (b) Mission (¢) Plan (d) Goal
ae - is formulated at the early stage of business formation.
(a) Vision (b) Mission () Goal (d) Plan
Q.2. Answer the following in one sentence. (5M)

1

1. What is business policy?

2. What is strategic management?

3. What is strategic business unit?

4. What is vision statement?

5. What is mission of an organisation?

Q. 3. write short note on (10m)

te S‘(:eps in S"éva:f:eg/ic Mang%&rx/\uw‘{:

2z s—éra:tegac Business Unit
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Jeevandeep Shaikshanik Sanstha Poi's

Arts, Commerce and Science College Goveli

Unit test
T.Y.B.Sc.(L.T.)
Subject : linux system administrator Nt O
Mark : 20
Q.1 attempt any two 10 marks

A. List and Explain duties of Linux system administrator?

B. Explain piping and redistribution?

C. Explain following term 1)linux 2)open source and red hat 3)origin of linux
4)distribution

Q.2 attempt any two 10 marks

A. write short notes on man command
B. write short notes on RPM
C. explain cut copy and paste deleting and replacing in VR mode




ACSCG/SYIT /SEM V /LINUX ADM./UT/2019
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TIME : 45MIN MARKS : 20

Q.1 attempt any two 10 marks

A. List and Explain duties of Linux system ad ministrator?

B. Explain piping and redistribution?

C. Explain following term

1)linux 2)open source and red hat 3)origin of linux 4)distribution

Q.2 attempt any two 10 marks

A. write short notes on man command

B. write short notes on RPM

C. explain cut copy and paste deleting and replacing in VR mode

ACSCG/SYIT /SEM V /LINUX ADM./UT/2019

TIME : 45MIN MARKS : 20

Q.1 attempt any two 10 marks

A. List and Explain duties of Linux system administrator?

B. Explain piping and redistribution?

C. Explain following term

1)linux 2)open source and red hat 3)origin of linux 4)distribution

Q.2 attempt any two 10 marks

A. write short notes on man command

B. write short notes on RPM

C. explain cut copy and paste deleting and replacing in VR mode

10
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JSSP/ACSG/BMS/SEM #IIAFMD/INTIERNAL TEST 2019

SUBJECT: AFMD CLASS : SYBMS
TIME : 45 MIN MARKS : 20
Q.1 Fill in the balnk by choosing the correct option. (5 Marks)

1. Balance Sheetis a

a) Statement of assets & liabilities
b) Statement of operating results
c) Statement of working capital

d) None of the above

2. Face value of a share is is a

a) lIssue price of a share

b) Book value of a share

c) Market value of a share

d) Fixed dinimination of a share mentioned in the M/A

3. Authorised Capital is is a

a) Minium capital the company can raise

b) Maximum capital that can be raised as per the WA
c) Optimum Capital that can be raised

d) Needed Capital

4. Point out from the following which is not a secured loan

a) Public Deposits

b) Mortgage loan

c) Bank overdraft

d) Debentures issue on floating charge

5. Goodwill is an

a) Intangible asset
b) Fixed asset
¢) Intangible fixed asset having realizable value

d) Fictitious asset
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JSSP/. ACSG/ S.Y.BSC-IT/ SEM-III/APPLIED

TIME: 45MIN

MARKS: 20
Sy e A CRRE N
NOTE: Attempt Any 4.
1)Find the inverse of the matrix
123
0 -12
16 3

2) Find the inverse of the matrix

2 00
3 30
5 21

3)Solve the following equation using elementary transformation

3x+2y+62=8, X+y+22=6, 2x+2y+22=6

4)Express C as the sum of symmetric and Skew Symertric matrics

3 43
6 -3 0
0 84

5)check whether the following set of vector are lin

early independent or independent.if they
are linearly independent find the relation betwee

n them
i)(1,2,3) ,(3,5,0), (1,0,5)

12




JSSP/ACSG/BMS/SEM - I/FC - I/INTERNAL TEST 2019

Subject : FC—1

Class : FYBMS Marks : 20

Q.1 Fiiin the blank by choosing the correct option. (5 Marks)
1) ---omeee is the vital tool for tying the society together.

a) Language
b) Religion
c) Science
d) Culture

2) The Dravidian Language of south India had a history independent of -----—---———-

a)  Austroasiatic
b)  Sanskrit

c) Sino-Tibetan
d) Hindi

3) The eight schedule to the constitution lists ~-------- official languages.

a) 21
b) 22
c) 23
d) 24

4) s Covers Hindi, Gujrati, Marathi, Bengali, oriya etc.

a) Dravidian Language
b) Arayan Language

c) Indo-Aryan

d) Sino - Tibetan

5) The sex ratio gets even worse (719) ata the time of the birth of ------- Child.

a) Second
b) Third
c) Fourth
d) Fifth




Q.2 Match the Column (5 Marks)

Column -1 Column -1l
a) Hinduism 1) Universal Religion
b) Jainism 2) Guru Granth Sahib
c) Buddhism 3) Jesus Christ
d) Sikhism 4) Zenda Avesta
e) Christianity 5) Does not have rigid Rules
f) Zoroastrianism 6) Teachings of Mahavira
Q. 3 Write Short note on (ANY TWO) (10 Marks)

I India as a Multicultural Society
Il. Tribal Characteristics

Ill. Linguistic Conflict in india

IV. Castr System in Indian Society

14
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Jeevandeep Shaikshanik Sanstha Poj's
Arts, Commerce and Science College ,Goveli
Unit test

S.Y.B.Sc.(I.T.)
Subject : COMPUTER NETWORK

Q.1 attempt any two

10 marks
A. Explain following term
1) simplex  2) half duplex 3) full duplex
B. Explain following term
1) lan 2)wan 3)man
C. explain OSI model?
Q.2 attempt any two 10 marks

A. Explain any two topology

B. Define data communication -explain it various component?
C. Explain following term

1) Physical layer 2)data link layer 3)network layer
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Q1. State the following statements are true or false (05)

1. Closing stock is ascertiained by preparing stock register.
2. Limited company also can adopt single entry system.

3. Credit sales can be ascertianed fromk debtour a/c.

4. Credit sales are ascertained by preparing sales register.
5. single entry is suitaibl to small organisation.

Q2. Match the following (05)
GROUP A GROUP B

a) Credit Purchase 1) Cash Book

b) Credit sales ii)Total Creditor A/c

¢) B.R Drawn iii)Total Debtor A/c

d) B.P Accepted iv) B.R A/c

e) Cash purchase V)B.P A/c

Q3. Write short notes(Any two) (10)
a) Total Debtor a/c.

b) Single entry system.

¢) Advt of Single entry system.,

L7




JSSP/ACS/TYBAF/COST A/C/Sem V/Internal Exam2018.

Marks -20. Time- 45 min.

Q1. State the followfollstatements True or False. (05)

a) Cement company follow process costing.

b) Normal loss is controllable.

c) Abnormal loss is non controllable.

d) Balance of abnormal loss is transferred to p&I a/c.

e) No separate a/c is maintained for each process.

Q2. Fill in the blanks by choosing appropriate option given below. (05)
(Scrap, Abnormal loss, Credited, Created, Method)

A) Process costing is a............. Of costing.
B) Abnormal loss is.............. to process a/c.
C) Normal loss is ............. to Process a/c.

D) loss due to improper handling of material is.............. .
E).. ...Is @ wastages realisable.
Q3.
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]SSP/ACSG/T.Y.BSC—IT/SEM-V/SPM/ MAR 2019-20
TIME: 45MIN MARKS: 20
NOTE: Attempt Any 4.

1) Why is Software Management is Important?

2) What is Project and Write down the attribute of the project
3) Distingwish between software project v/s other project

4) Write a note on stakeholder

5) Whatis project charter

6) Write in detail Project Management Lifecycle

JSSP/ACSG/ T.Y.BSC-IT/SEM-V/SPM/ MAR 2019-20
TIME: 45MIN MARKS: 20

S LU NN

NOTE: Attempt Any 4.

1) Why is Software Management is Important?

2) Whatis Project and Write down the attribute of the project
3) Distingwish between software project v/s other project

4) Write a note on stakeholder

5) What is project charter

6) Write in detail Project Management Lifecycle




ACSCG/SYIT /SEM Il /COMPUTER NETWORK/UT/2019

TIME : 45MIN MARKS : 20

Q.1 attempt any two 10 marks

A. Explain following term 1) simplex 2) half duplex 3) full duplex B. Explain following term 1) lan 2)wan
3)man C. explain OSI model?

Q.2 attempt any two 10 marks

A. Explain any two topology

B. Define data communication . explain it various component?

C. Explain following term 1) Physical layer 2)data link layer 3)network layer

ACSCG/SYIT /SEM Ill /COMPUTER NETWORK/UT/2019

TIME : 45MIN MARKS : 20

Q.1 attempt any two 10 marks

A. Explain following term 1) simplex 2) half duplex 3) full duplex B. Explain following term 1) lan 2)wan
3)man C. explain OSI model?

Q.2 attempt any two 10 marks

A. Explain any two topology

B. Define data communication . explain it various component?

C. Explain following term 1) Physical layer 2)data link layer 3)network layer

90




Jeevandeep Shaikshanik Sanstha Poi=

. AT
College of Arts ,Comm & Sci fg:;
Unit Test : FYIT(SEM | )

Sub : Discrete Maths

Time : 45min (attempt any 4)

Q1) Explain SET ,SUBSET,UNION of SET ,INTERSETION of SET,EMPTY SET,UNIVERSAL SET?
Q2) Let U ={1,2,3,.....10} X={1,2,3,4,5}
Y={y=2x,x € X}
z2={z/22-92+14=0}
Find : 1)XnY 2)YUZ 3) Y
Q3)In a school,100 students have access to three software packages A,B,C.
28 did not use any software
8 used only packages A
26 used only packages B
7 used only packages C
10 used all three packages
= 13 used both Aand B
Draw a Venn Diagram with all the sets?
Q4) let P=“itishot“ q=“itis sunny “
Write the symbolic forms for each of following sentence ?

1) Itis not hot

2) Itis hot or sunny

3) Itis not hot but sunny

4) Itis neither hot nor sunny
5) Itis hot and it Is sunny

Q5) verify with the help of truth table  ~(PVQ)= ~PA~Q ?

Q6 ) Draw Logical circuit diagram using gates for equation Y= A.B. C + AB +B.(A+C)

21
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JSSP/ACSG/F .Y.BSC-IT/SEM-I/ OPERATING SYSTEM/MAR 2019-20
TIME: 45MIN MARKS: 20

NOTE: Attempt Any 4.

1) Write a short note on type of Operating System

2) Write a note on memory and Explain in short jts type
3) What is Process and Explain the role in Operating syetm
4) Write a note on System call

5) Write a note on Kernal

6) Explain Layered Architecture Operting Sysetm

JSSP/ACSG/F -Y.BSC-IT/SEM-I/ OPERATING SYSTEM/MAR 2019-20
TIME: 45MIN MARKS: 20

NOTE: Attempt Any 4.

7) Write a short note on type of Operating System

8) Write a note on memory and Explain in short its type
9) What is Process and Explain the role in Operating syetm
10) Write a note on System call

11) Write a note on Kernal

12) Explain Layered Architecture Operting Sysetm




«‘/ 4

JSSP/ACSG/BMS/SEM g/lAFM D/INTERNAL TEST 2019

SUBJECT: AFMD : CLASS : SYBMS

TIME : 45 MIN MARKS : 20

Q.1 Fillin the balnk by choosing the correct option.
1. Balance Sheet is a

a) Statement of assets & liabilities
b) Statement of operating results
c) Statement of working capital

— d) None of the above

2. Face value of ashareisis a

a) Issue price of a share

b) Book value of a share

c) Market value of a share

d) Fixed dinimination of a share mentioned in the M/A

3. Authorised Capital is is a

a) Minium capital the company can raise

b) Maximum capital that can be raised as per the M/A
c) Optimum Capital that can be raised

d) Needed Capital

a 4. Point out from the following which is not a secured loan

a) Public Deposits
b) Mortgage loan
c) Bank overdraft
d) Debentures issue on floating charge

5. Goodwill is an

a) Intangible asset

b) Fixed asset

c) Intangible fixed asset having realizable value
d) Fictitious asset




Q.2 State whether the following are true or false.

a) Borrowed fund consist of short term borrowings

b) Depreciation is a non cash item.

c) Interest on loan is disclosed separately in vertical income statement.

d) Authorised capital is the minimum capital that can be raised by a company.

e) Higher bank overdraft means higher working capital.

Q. 3 Solve any one (10 Marks)

a) Prepare Balance sheet from the following information.

Particulars Amt.
Share capital 20,00,000
Reserves 2,00,000
Profit & loss A/c 1,00,000
Share Application money pending 1,20,000

allotment
Long term borrowings 5,00,000
Short term provisions 50,000

Trade payables 2,00,000
Tangible assets 21,30,000
Intangible assets 4,00,000
Non current investment 2,00,000
inventries , 1,50,000
Trade Receivables 1,70,000
Cash and cash equivalent 1,20,000




